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Find the trigonometric ratio from the following figure.

v En HA D
Bl & k!
B A
90" —A
c b
¢ a B 90 —A C
a
A C B=90 —A
b
. a .
sin A = c sin (90" —A)= ——
b . _
cos A= — cos (90" —4)= —
tan A = —— tan (90 —A)= ——
ERNS 5 I AT a0 Hbb
=4 He oo H IR 2 R LT, AD=ALT %K H,

Express the trigonometric ratio of A using

the interrelationship of trigonometric ratios.

v rEn
i tan (90" —A)
N T .
tan (90 *A)— 0 a  ~ tanAd
b
b AN
HEED sin (90 —A)
b AT
HE® cos (90" —A)
Shnl o [P AN

=AD R A X,

Complete the table of trigonometric ratio using

3. FHEBIREFIN LT,

the interrelationship of trigonometric ratios.

AR

[ead

Zu ]

h
B sinA = cosAXtanA LV, 2@ ek &L,
A 30° 45° 60°
. /
sin A —_—
2
V3 V2 1
cos A Ea—
2 2 2
tan A ! 1 V3
an r—
V3

V3 1T
2 V32

sin 30" = cos 30" X tan 30" —

broh SAh ol vk shmd v
4. EAM=AFE2HNHLT, /k@ ﬁtt%?k&biié VY,
Find the following trigonometric ratios using a right triangle.
nwn HA WD
15 B il &
@D sin 60° @D sin 30"
‘ |
[]
sin 60 = ——
2
@ cos 30 @ cos 45
/
cos 30 = LR
2
@ tan 45 @ tan 60
g
AV E
7
tan 45 = S =7
7
25 A Dk MDD
5. HAERBKEZFIHL T, =MAko 2@ ’Z’mﬁkﬂi’i

Complete the table of trigonometric ratio using

the interrelationship of trigonometric ratios.

b ATV ] YA
i RE tanAZM%FHU\’C ?@ ZSE Rk K,
cos A
A 30° 45° 60°
. 1 V2 V3
sin A — — e
2 2 2
3 2 1
wed | B 2| 1
2 2 2
tan A !
an —
V3
. sin 30 . . .
tan 30 = = sin 30 = cos 30
cos 30
VB2 7
22 2 V3 V3




Shnd O Zz5 I AN noEn

2| ZALOBEER 2 R B )3
32| =AKOREER 2 & L JE(C B & )
broml SAhoF 0k oF Sk O b oF 01> hAt
1. lﬁﬁ: ﬂé%ﬂ:‘”ﬁﬁ LT, Yk@:ﬁtt%*&)iﬁéb\o 3. Yk@ %fn V@'J:o Complete the following table.
Find the following trigonometric ratios using a right triangle. SAMEN Dr5  BAEnN oL
— 0 i Z5ERK L, sin?A + cos?A & K K,
15 B il &
@ sin 45 @D sin 60° A 3(1) 3/52_ f;)?)_
sin A —_—
\/2— 2 2 2
/
4 V3 V2 1
AV NN cos A -
7 2 2 2
2 A /
sin -
sin 45" = —L—— V2. 4
V2 2 3
] ] cosZ A —
@ cos 60 @ cos 30 4
sinZ A+cos? A /
2 V3
A60 [ Ry 02:(7_>2:L
- sin< 30 (sm 30 ) 5 4
cos 60" = —L—
T2 2 35 = 02:(_3)2:L
cos* 30 (cos 30 ) P 4
@ tan 30° @ tan 45
sin? 30" +cos? 300 = 2 + fl = Z =7
|
el []
V3
tan 30" = I
V3
25 A Dk SANT Vx5 AL
2. HARMFREZFHLT, =MAko R 27N X,
Complete the table of trigonometric ratio using
the interrelationship of trigonometric ratios.
b AN 1 bhH (ORI YR AN
i tan A = M%ﬁﬁb\f * & EMRE L,
cos A
A 30° 45 60
. 1 V2 V3
sin A —
2 2 2
V3 V2 1
cos A -
2 2 2
tan A - \/3_ bEW b 2 homn . .
4. sinA o %k k. A (0 <A< 90)
) sin 60 ‘ ) ) Find the value of sin A. (A is an obtuse angle.)
tan 60 = ————— = sin 60 —~ cos 60 P T
cos 60 Bl & i
Vi V3 2
T =V3 sin2A=—i DL x sinZAZ—; DL x
bL bL
sin A Z R KL, sin A K L,
sinA >0 k"
3 /3
sinA = = T
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1. EfA = ﬂ‘/’ifﬂﬁﬁ LT, /k@ ﬁtt%?k&bii AN 2. fHA B %%IJFH LT, =flko £ ZuEmME L,
Find the following trigonometric ratios using a right triangle. Complete the table of trigonometric ratio using
P RS the interrelationship of trigonometric ratios.
& [ & oD 15 hAtn
D sin 30 D sin 45 BIBED cos(90° — A)= sind & i C & % 5pw k.
A 30° 45 60
sin A — — —
) L 2 2 2
? V3 V2 7
cos A - - -
2 2 2
/
sin 30 = ———
2 cos 30" = cos( 90" —60" )= sin 60" = i
2
@ cos 45 @ cos 60 cos 45" = cos( 90" — 45 ): sin 45 = —j
w/ p cos 60 = cos( 90" —30° ): sin 30" = ZT
bAED ] mhEn
A / 5P s1n(90 —A)—cosA%Fﬁb\Tié%%ﬁkﬂi‘J:o
A 30° 45 60
cos 45 /—2 = —52 sin A - - -
4 V3 V2 1
COos - - -
@ tan 60° @ tan 30° 2 2 2
2 V3
A ]
/
tan 60 # =3
@ sin 75 @ cos 75
LN . (P A
FIE@ tan(90" — A )= ta LY. % e X,
4] |6 vz A 30° 45 60°
: 1
0 tan A f 1 V3
V6 -2
tan 60 = tan( 90" —30° ): m
. AerV2 _
sin 75 = —4 / \/3 \/—
=/+tan 30 =/+——=7 x —— =4/3
V3 /
b A fﬁ . J: [P Zﬁ::/m‘/’d‘b‘\ J:
® cos 15° ® sin 15° EIE Q@ tan(90 _A)_ tan A v, REZHE L,
A 30° 45 60
4
V6 +1/2
. VbEV2
cos /5 = — 4
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Show the following formula.

L
(1) sin2 A + cos2 A = 1 &/t

B
c i a tanA = ——
A C
b
sinA = —— COSA=—
a: b p—
S~ iEd T Y Wiz )

(sin A % sin? A, (cos A)> % cos® A .;% &,

sin2 A + cos2A =1

~ sinA By
(2) tan A = Tcos A o,
1 )
2 = —— 7N
3 1+ tanZ A o2 A o,

2. <A< DL =, cosA’i’;é&’)oto

Find the value of cos A when 0" < A < 90" .

nwrEn b A

il i

—

= N

aic}

@wk%, sinA:%O)k%

cosA’i’;‘%&’)io COSA%;“%&’)OEO

sin A =

cos” A =/— sin? A

- )
2
7
4
cosA >0 k"
cos A = % :%

HL
3. 0<A<K<I90O DL X, simA tanA Z KD L,

Find the value of sin 4, tan A when 0" < A < 90 .

nwn HA N

il [l 8

cosA:%@k%, cosA:%O)k%

sinA,tanA%_";‘%&')oto sinA,tanA%;é&)oto

sin“ A =/— cos’ A

_ 3
4

sinA >0 LV

Y AR v I

~ sinA

tan A = wos A

- /

B 2

b
4. 0 < A<K90 D& X, sind, cosA xR L,
Find the value of sin 4, cos A when 0" < A < 90 .

nwn HA N

il [l 8

1 1
=— 0 =——
tan A e L x, tan A NeE L X,

HL HL
sin A, cos A & KD L, sinA,cos A # R X,

I _ 2
COSZA—/Jr tan< A
2
)
=7
v (\/§
4
- 3
cos? A :—2
cosA >0 1"
3
cosA = % :—\/;
~_sinA
tanA——COSA gy

sinA = tan A X cos A

/ V3
V3 2
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Find the trigonometric ratio from the following figure.
ny e AN
f5il /E i e
B A
90" —A
c b
¢ a B 90 —A Co
a
A C B=90 —A
b
. a o
sin A = c sin (90" —A)= ——
b N
cos A = p cos (90 —A)— E—
tan A = — tan (90" —A4)= ——
b
ERNS Zz9 T A i) a0 bob
2 ;ﬁ $HE3§1+%$IJFH LT, AD=MKT &K,

Express the trigonometric ratio of A using

the interrelationship of trigonometric ratios.

oL A
Bl & il
cos (90" —A) sin (90" —A)
= % =sinA

c

3. 0 <A< D& %,

b
cos A, tan A & R X,
Find the value of cos 4, tan A when 0" < A < 90 .

v v

il i

bA TN

[ &

sinA:@@k%,

HL
cos A, tan A & R ¥ K,

cos” A =/— sin? A
- ()
3

4
9
cosA >0 I

_ 4 2
cosA = o = 3

__sinA
tanA——COSA

sinAzg@k%

HL
cos A, tan A & R X,

HL
4. 0 < A<9 DL X, sind tanA % K& L,

Find the value of sin 4, tan A when 0" < A < 90" .

no b
{51 R il
cosA:%@k%, cosA:%O)k%
b L b L
sin A, tan A XK L, sin A, tan A 3K X,
sin“A =/— cos’ A
L L)Z
B 4
7
76
sinA >0 LV
TV
_ _sinA
tanA——COSA
V7T 3
4 4
V7
3

5. 0 <A< 90 D& X%,

b
sin 4, cos A # R ¥ X,
Find the value of sin 4, cos A when 0" < A < 90 .

2
HL
sin A, cos A %KD L.

I _ 2
COSZA—H- tan? A
2
- /
-+ ()
b
Y
cos? A :%
cosA >0 1
/4 2
CoOsA = 4/—F/— = —=—
5 \/5_
~ _sinA
tanA——COSA gy

sinA = tan A X cos A

_ 2
2 V5
i

v HAEn
{51 R
tan A = —— o & x| tan A= —— L x,

3
HL
sinA,cos A %R X,
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Show the following formula.

L
(1) sin2 A + cos2 A = 1 &/t

B
c i a tanA = ——
A C
b
sinA = —— COSA=—
a: b p—
S~ iEd T Y Wiz )

(sin A % sin? A, (cos A)> % cos® A .;% &,

sin2 A + cos2A =1

~ sinA By
(2) tan A = Tcos A o,
1 )
2 = —— 7N
3 1+ tanZ A o2 A o,

2. <A< DL =, cosA’i’;é&’)oto

Find the value of cos A when 0" < A < 90" .

nwrEn b A

il i

—

= N

aic}

sinA:%O)k%, sinA:%O)k%

cosA’i’;‘%&’)io COSA%;“%&’)OEO

cos” A =/— sin? A

9

25

cosA >0 I
73

cosA = 25— %

HL
3. 0<A<K<I90O DL X, simA tanA Z KD L,

Find the value of sin 4, tan A when 0" < A < 90" .

nwn HA N

il [l 8

cos A = 1
v/ 10

sin A, tan A %;é??’)oto

cosA—%O)k%, DL
&
sin 4, tan A 72%‘?&5&0

sin” A =/— cos? A

b
4. 0 < A<K90 D& X, sind, cosA xR L,
Find the value of sin 4, cos A when 0" < A < 90 .

v HA TN

il i [l

tanA:%O)k%, tanA:%O)k%,

b L b L
sin A, cos A & KD L, sinA,cos A # R X,

/

— 2
wos’ A /+ tan? A
2
- /
=t ()
_ 10
- 9
9
2 - 7
cos* A 70
cosA >0 1"
/ 9 3
CosA = 4/—/— = —F—
70 770
sin A
tan A = —— 1
cos A

sinA = tan A X cos A

_ y 3

3 V0
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Find the trigonometric ratio from the following figure. Find the value of sin A, tan A when 0" < A < 90" .
av D bA D av D bA N
i & 15 B R
B A 3 2
90 —A cosA:T@k%, cosA:TODk%
£ b . b . b
c a B9 -4 [ sin A, tan A Z K L. sin A, tan A # K ¥ X,
a
A C B=90 —A sin® A =/— cos? A
b
a 3 ’
sin A = c sin (90 —A):— =/— (T)
_ 7
cos A = Zc) cos (90" —4)= — /o
sinA >0 &7
— a ° —
tan A = — tan (90" —A)= SinA — % _ VZ
S O %3 2 pAdn i S B bbb tan A — sin A
2. =ALOMEA Ee{w”i’ﬂﬁﬁ LT, AD=MALLT XL, an A == s A
Express the trigonometric ratio of A using —
the interrelationship of trigonometric ratios. — T7 - ‘Z
av D bAED
{5 i .
cos (90" —A) sin (90" —A) _ S
b L
B ~ sin A 5. 0 <A< 90 ®L =, sinA cos A xR L,
- c - Find the value of sin A, cos A when 0" < A < 90" .
A En bA L
i &
. . S
3. 0 <A<9 @k%., cos A, tan A & R X, | | tanA= 30 L X fnA= 2 DL X,
Find the value of cos A, tan A when 0" < A < 90 .
bL bL
nn En b ED ] D% ] D%
i i sin A, cos A & RKD L, sinA,cos A # R X,
sinA:ﬁ@k%, sinA:ﬁ@k% /2 =/4+ tan? A
3 4 cos* A
bHL bL
cos A, tan A & R & K, cos A, tan A & R X,
=7/+3% =/+9
cos’ A —=/— sin? A
= 70
L (_\/5)2
B 3
24— L
4 cos® A =
=g 70
cosA >0 k7 cosA >0 k"
4 2
CoOsA = 4/—— = — / /
9 _3 cosA = /77 =
AN
~_sinA ~ _sinA
tan A Teos A tan A = s A i)
V5 L 2 sinA = tan A X cos A
-3 T3
:3 X / f— 3
_ V95 V70 V70
2
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Find the trigonometric ratio from the following figure.
ny e AN
15 R4 i e
B A
90" —A
c b
a
A C B=90 —A
b
. a o
sin A = c sin (90" —A)= ——
__b : _
cos A c cos (90 —A)— E—
a B
tan A = — tan (90" —A4)= ——

5 I A

Shm< O bbb

EMTF%%'JFH LT, AD=/ALT X ¥,

Express the trigonometric ratio of A using

the interrelationship of trigonometric ratios.

o b
Bl & il
sin (90" —A) cos (90" —A)

53

o b b
3. KO=AERDRIW,

Find the value of sin A, cos A when 0" < A < 90 .

v

il i

HATE

H

&

)m.{.—

tanA:L@k%,

V3

sin A, cos A %%%&’)oto
x(Z): /
\/3_
2 =75 )
—/43=4

x>0 £ x =4 =2

. /
A———
sin 2
V3
cos A = T

tanA:%@k%,

HL
sinA,cos A %R X,

4. RO = ﬁm%*@ﬁéw
Find the value of cos A, tan A when 0" < A < 90" .
N b AN
151 RH " BE
. 1 . 3
s1nA:T@k€<, smA:T@k%,
b L b L
cosA,tan A # K L, cosA,tan A # R X,
A/

x/3)
27 = x4 77
o=l 2

=4—7=3

x>0 k0 x=+/3
cosAzJ&

2
‘canA:L

V3
0¥ EARC D b

5. RO =Mt ZRDZ I,
Find the value of sin A, tan A when 0" < A < 90" .

nn En HA N
11| ’E i RE

3 2
cosA—é@}:%, cosA—é@}:%,

ek Shh< B

HL
sin A, tan A K X,

V3

x>0 & x =171 =7

sinA = ——

tanAﬁ

HL
sinA,tan A & K X,
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Show the following formula.

L
(1) sin2 A + cos2 A = 1 &/t

c i a tanA = ——
A C
b
sinA = — COsA=—
a= b=
Sh~0iE) T Y Wiz )

(sin A)* % sin® A,

sin2 A + cos2A =1

(cos A)? % cos? A & ;%%,

sin A Lo
2)tan A = ——— X~ H,
(2) tan os A %R
oF S O b
2. RO =M ERD IV,
Find the value of sin A, cos A when 0" < A < 90 .
e E o LN
11| RE i

1
tanA——2 DL x, 3

HL
sin A, cos A& KD L,

Mﬁ):: ;

2
x* =774 27
=/+4=5
x>0 k0 x=4/5
smA:L
Voo
COSA%

tanA:L@k%,

HL
sinA,cos A %R X,

3.

4.

(B0 B
W = g R 7 &,

Find the value of cos A, tan A when 0" < A < 90" .
fi i e

V3

sinA:T@k%,

b L
cosA,tan A # K L,

x>0 & x =71 =7

/
A= —1—
COos 2

tanA:ﬁ:\/g_

/

. 5
sin A = 13 DL xE,

b L
cosA,tan A Z KD X,

53

b D

KD E R DT S,

Find the value of sin A, tan A when 0" < A < 90" .
A I
15l jE F'EJ
V2 V3
cosA:T@k%, cosA:T@k%,

HL
sin A, tan A K X,

V2
2 =4 (VI)
¥ =1 )
42

x>0 &) x=+2
sin A =

V2
2

tanAA\/%/

HL
sinA,tan A & K X,
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Find the trigonometric ratio from the following figure.
v En LA ED
i k!
B A
90" —A
c b
a
A C B=90 —A
b
. a B
sin A = c sin (90" —A)= ——
__b . _
cos A c cos (90 —A)— E—
a °
tan A = — tan (90" —A4)= ——
Sk 0 z5 "n/m oF &k D
2. =ALOMH F‘aﬂfﬁ%‘:ﬂﬂﬂbf WD = ﬁtl:%‘:?k&bot
Express the trigonometric ratio of A using
the interrelationship of trigonometric ratios.
v En bA D
i i R
cos (90" —A) sin (90" —A)
=% —sin4
Cc

53

hind O b

3. RO f b E R RS,

Find the value of sin 4, cos A when 0" < A < 90 .

v

il i

HATE

H

&

)m.{.—

tanA:L@k%,

V2

HL
sin A, cos A& KD L,

X (/3) 7

=7/+2=3

x >0 &Y x:\/3_
sin A =

cos A =

S -

tanA:L@k%,

V3

HL
sinA,cos A %R X,

ek Shh< B

4. RO = ﬁm%*@ﬁéw
Find the value of cos A, tan A when 0" < A < 90" .
N b AN
{51 R " BE
. 2 . 4
s1nA:T@k€<, smA:T@k%,
b L b L

cosA,tan A # K L, cosA,tan A # R X,

)

x(V5)

37 = x?+2°
=3 )2

=9—4=5
x>0 k9 x=+/5
cosAfﬁ

3
2
tan A — ——
an \/5
0¥ EARC D b
5. RO =Mt ZRDZ I,

Find the value of sin A, tan A when 0" < A < 90" .

nwv

il i

b

oL

cosA—@@}:%,

HL
sin A, tan A K X,

; /_‘x(/)
a
()

x >0 &7 x:\//_:/

. /
A= —1—
sin 3

tan A =

I
Vi

cosA—4@<‘:€<,

HL
sinA,tan A & K X,
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Show the following formula.

sin A Lo

(1) tan A = os A o,
B
Aa
A C
b
sinA = —— cosA = ——
a= b=
_ _ sin A
tan A = = wos A
(2) sin? A + cos2 A = 1 &R+,
a= b=
éi/NL\Ii5 Tw v Ewicw 5
SEHOER(E= a2+ B)ITf A LT

(sin A % sin? A, (cos A)%> % cos® A .;% &,

sin2 A + cos2A =1

N

ok
%
>
k-4
s
<

[l
o

bRk w7 S0,

Find the value of sin 4, cos A when 0" < A < 90 .

v

il i

bh
[2]

—

20

aic

tanA = 2 O L X,

HL
sin A, cos A& KD L,

smA:L
5

cosA:L
5

tan A =,/3 DL,

HL
sinA,cos A %R X,

£

oF éiﬁ) o) B?
3. RO=AERDRIW,
Find the value of cos A, tan A when 0" < A < 90" .
v rEn HAED
f5il /E i R
. 12 . 24
s1nA——13 DLk x, smA——25 DL X,

b L
cosA,tan A # K L,
73 72
X (5)

737 = x?+727
x’ =73%—727
=769— 44 =25

x>0 &M x =4/25 =5

5
A= ——
COos 73
/2
tan A = ——
an 5

b L
cosA,tan A Z KD X,

Shn O

4. KD S a KD S,

Find the value of sin A, tan A when 0" < A < 90" .

v

il i

HATEND

] el

cosA—@@k%,

HL
sin A, tan A Rk X,

2 x (/)

tanAﬁ

cosA—g@k%,

HL
sinA,tan A & K X,
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1. /k@ X0, —ﬁ e %;k Hip X Uy, 4. Jios JH 2 & @jc% A AN Solve the following application problems.
Find the trigonometric ratio from the following figure. oo 2 AT
15 B il
AN A
% B Ezé40m@ib % Eé50m@ib %
L »i L »i
A @AC AA(i T D, MEE [T D, Hi b
n< n<
Tk o XLIZORTAN 65 T |[ITLIDRT AN 707 T
E‘ = JEC 32 S . ER b N b
sinA=-———, cosA=-—"—"—, tanA=— L7z, BFLZOma%xRk (L, BLIO®EmI &K
450 ) e i)
(F 1 ) (24 (Fr Ve b o & o &
an bAED
15 B " R r0)k
B B 65"\
‘éa'l =
5 4 A ug) sin 65" = 4
a—"te V3
A x =4 X sin 65

A =4 X cos 25
)
B C B UC =4 X 0,97

=3.64 =346 (m)

sinB:% sin B=——= sin 60
s
4 3 A A ladder with a length of 5.0 m
cos B = T cos B=——= cos 60 X was placed against a wall.
The angle between the ladder and
i the ground was 70 degrees.
cos 25 = —X Find the distance x between the
tan B = i tan B = — tan 60° 4 base of the ladder and the wall.
EHENn 37 To L) [
SI= /R % 20 m h"ﬁ’btm T|$KEND 70 m h‘ﬁﬂtm
EAA D Ehth D
5¥  sARC O 0 bbb i 75’@]5& 60 ’be\_o ?ﬁiﬁ’ﬁf&/ﬁ'ék 55 Tbto
RO = @ Lo N To &) 7z
2. ko SRiEEATO FET A E | |hhofsceknr, |[BHofscrkor
Express the following trigonometric ratios under 45°. .
hnZn HAED
151 B il &
cos 60° = cos (90 — 30 ) | sin 60"
= gin 30
SAP<D D oF  HEL b .
3. _ﬁtt@i@iw WD fE &R X, x = 20 X tan 60
Find the following values from the table of trigonometric ratios.
v bA T = 20 X tan (90 —30 )
i R
_ 1
=20 X —————
A sin A cos A tan A A sin A cos A tan A tan 30
5 0.09| 1.00| 0.09 10| 0.17| 0.99| 0.18 — 90 = tan 30°
15" | 0.26| 0.97| 0.27 20" | 0.34| 0.94| 0.36 ’
25" | 0.42| 0.91| 0.47 30" | 0.50| 0.87| 0.58 — 90 = 0.58
35" | 0.57| 0.82| 0.70{|| 40" | 0.64| 0.77| 0.84 -
45 | 0.71] 0.71] 1.00 45| 0.71] 0.71] 1.00

= 34.48- = 34 (m)

sin 650 Sin 700 Ao iy
(316 )
= sin (90" — 25°) A 20
= cos 25
.20
~ 0.01 tan 30 = x

. The tip of the tower measured 70 m
x Xtan 30 = 20 away from the chimney was 55°.
Find the height x of the tower.
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Find the trigonometric ratio from the following figure.

T,

A% ey

C
& i3] B
sin A = Llw , cCosA = ii‘} , tanA = :: 3
iz i K30
(A1) (=2 1Y) (X = h)
 En bHATEWN
11| RH 1) B
B B
A?’ 2/ | V8
C
[]
A 1 C
A
. 4 . . .
s1nB:T sin B=— = sin 30
3 .
cosB:T cos B=——= cos 30
4 .
tanB:T tan B = —— = tan 30

ekl Shh< O Shm< O hHob

o0 KO E A5 EL T O ST £

Express the following trigonometric ratios under 45°.

o e e
15 78 i
sin 60 —sin (90 —30°) | cos 60
= cos 30

S AL

3. Sl £ LY, ko Bk L,

Find the following values from the table of trigonometric ratios.

2 bA D
f5il /E I A
A sin A cos A tan A A sin A cos A tan A
5| 0.09| 1.00| 0.09 10°| 0.17| 0.99| 0.18
15| 0.26| 0.97| 0.27 20| 0.34| 0.94| 0.36
25| 0.42| 0.91| 0.47 30" | 0.50| 0.87| 0.58
35| 0.57| 0.82| 0.70 40° | 0.64| 0.77| 0.84
45| 0.71| 0.71| 1.00 45| 0.71| 0.71] 1.00
@ tan 55 @ tan 65
= tan (90" —35")
. / . /
 tan 35 0.7
= 7 =743

BH Lo bauEn L

4. J[CHMEEZ fiRE 72 Z W, Solve the following application problems.
fsil Fi
%é5mn®ﬂw%%o 10.0m DT — LD Y L —
?ﬁ%@%é,m—ﬁ Kb, T—hi 60 E
65 ETENo-L XD |ThERoTLEDT — A
N DRBORSER |OREom S 2k X,

Wk, AS—it F 1.0m |7 — A0 RGOS S 13

T b

=
DEIICHEELTWSD,

Wi I 3.0m T %,

x =5 Xsin 45
=5 xsin(90" —25")
=5 Xcos 25

=5 X097 =455

b
IN—D &SI

4e55+4+7.0 =5.55
= 5.6 (m)

There is a barrier with a 5.0m long
bar. Find the height of the tip of
the bar when it reaches 65 degrees.
The bar is installed at a height of
1.0m above the ground.

There is a crane with a 10.0m arm.
Find the height of the tip of the arm
when it is raised to 60 degrees.

The height of the arm rotation axis is
3.0m above the ground.

To L) 37

732N % 80m H’Eﬁ’bt

AT E37]

%Jﬁ%/ﬁl 15 & 55 T Lto

To L)

BEOES 2R

x —§0 Xtan 55
=80 X 7443

=/ 4=174 (m)

The tip of the tower measured 80
m away from the chimney was 55°.
Find the height x of the tower.

/(_/1/2:”) [

JiE 5 W%%m%ﬂtm

Hhalh E37]

%Jﬁ%/ﬁl 15 & 65 <L,

Zh ko

JiE 5 @mé%*&)o}:

The tip of the chimney measured 20
m away from the chimney was 65°.

Find the height x of the chimney.
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1. kD L0, _ﬁ Hﬁ & ;k 78 X, 4. [CHBEZRE 720, Solve the following application problems.
Find the trigonometric ratio from the following figure. e R,
15 B F'n H
A D bA RN i b
15 R4 A EéSOm@iL 72555 E 10.0m O X L Z 72555
Py Py
B A ﬂlifﬁ’j’f?_%, i & GL__L’Cf))Tﬁ_E, i &
<
Ab HELZoRT AR 65 T [IELI0RT AR 60 T
nb L s I
Al B a C L HLZORT LB | L, 2L Z0RE & B
x5y b x5y b
A b C D HHHE x 2k D X D HHE x 2k D &
sinAd = —2 sin B=—— /
¢ vo
i’
A 65
cosAZ% cos B=—— \vc;
cos b5 = ;f
tan A = Z tan B= ——
x =§ X cos b5
Ehn< O SADKV bbb . .
2. WD =fitE AD ST E =¢ xcos(90 —25)
Express the following trigonometric ratios with the trigonometric ratios of A.
: =§ Xsin 25
av D bA D
i) &
=& X042
tan (90" —A) sin(90" —A)
b =3.36 =3.4 (m)
=tanB = ——
a
N A
SR —— (aume) .,
a tan A x A ladder with a length of 10.0 m
b was placed against a wall.

The angle between the ladder and

3 < }”é];é D % rv, /j’( D k’{ " W % ;é I . i X the ground was 60 degrees.
o ° sln 25 = 7 Find the distance x between the
Find the following values from the table of trigonometric ratios. base of the ladder and the wall.
o Fo GA D LHrEn 1372 Th EnRo (e Th
{5l i 7 b 45 m i 7 T KA 5 70 m 7 AT
T At A AT A
i EI Vi El
A sin A cos A tan A A sin A cos A | tan A %;L %{ G TL7. %'Lﬁﬁ%{ 15 & 60 Tbﬁ—o

EnRo

HADES xknE, |KILOBS xzkok

5| 0.09| 1.00| 0.09 10" | 0.17| 0.99| 0.18
15| 0.26| 0.97| 0.27 20| 0.34| 0.94| 0.36
25| 0.42| 0.91| 0.47 30| 0.50| 0.87| 0.58
35 | 0.57| 0.82| 0.70 40" | 0.64| 0.77| 0.84
45 | 0.71] 0.71| 1.00 45| 0.71] 0.71] 1.00

@D tan 65° @D tan 60°

= tan (90" —25")

. x
B ; B / tan 65 = T
o tan 25 0447
X =45 X tan 65
700 .
p— == ° - X .
47 2473 45 X 2473
= 9585 =96 (m)
@ cos 65 @ cos 60
= cos (90" —257) (%ﬁﬁﬁ;ﬁ;)
"
= sin 250 X
i 45 When I measured the tip of the
=0.42 tan 25 = x buddha at a point 70 m away

. from the buddah, it was 60 degrees.
x Xtan 25 =45 Find the height x of the tower.
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1. kD L, =ZA %;k 78 X, 4. [CHBEZRE 720, Solve the following application problems.
Find the trigonometric ratio from the following figure. PR ST
v ED e 151 RH ] RH
i| BE L P P
i 5 Ezé 10.0m & 1 L = % B Ezé 8.0m D11 L = % b
L i L i
A CA TS, ML |l T b, M b
C < <
“ /b FELZORTA 55 T [IELIORTAMR 70T
Ry L e nbE e
A b C L, HLZOMTELEE (L, 3L Z0RE &
B C x D b x D b
a O Bk x 2R D X, O Bk x 2R D X
sin A = j sin B=———
/0. €0§‘
cosA:L cos B=—— iff
C
cos 55 = —>
a 70
tan A = b tan B= ———
x =70 X cos 55
SF S A<D Shn<0  BHbb

2. RO=Mkx AD=MAL TR,

Express the following trigonometric ratios with the trigonometric ratios of A.

=70 x cos(90" —35")

HEn bhED =70 X sin 35
15 B it R
tan (90" —A) cos(90" —A) 10 X 0457
_ b
= tan B = 5.7 (m)
a L Sl
f— / f— / R
a tan A (31 ) 00
b A ladder with a length of 8.0 m was
placed against a wall.
D, - . x The angle between the ladder and
. . N sin 35" = — 57— the ground was 70 degrees.
3. =Alto 2% L0, {k D E & Kb & °© 70 Find the distance x between the
Find the following values from the table of trigonometric ratios. base of the ladder and the wall.
ok 117 Th L5 117 Th
v En bA N K BT < K BT
{51 i g f%}/fb)% 60m fff 4L 7z T i/;?:% 40m B 72 1T
5‘5&#&%‘:«5' 1% & 50 TL, %iﬁﬁ%‘:«ﬁl 1% & 60 TL 7,
A sin A cos A tan A A sin A cos A tan A To L
5| 0.09] 1.00| 0.09]|[ 10| 0.17] 0.99] 0.18 FHOBS xakn k. \HORS s 2Rk
15" | 0.26| 0.97| 0.27 20" | 0.34| 0.94| 0.36
25" | 0.42| 0.91| 0.47 30" | 0.50| 0.87| 0.58
35 | 0.57| 0.82| 0.70 40" | 0.64| 0.77| 0.84
45 [ 0.71] 0.71] 1.00 45| 0.71] 0.71] 1.00
@O tan 50 @O tan 60°
. . . X
= tan (90" —40") tan 50 = =5
B / B / x =60 X tan 50
 tan 40 0.84
=60 X779
=190 0 774 =77 (m)
&4
s
o o (7))
@ cos 60 @ cos 70
60
= cos (90" —30") -
. 60
= sin 30° tan 40 = Y
x X tan 40° =60 When I measured the tip of the
=0.5 i tower at a point 40m away from the
x =60 — tan 40 tower, it was 60 degrees.
Find the height x of the tower.







